IBPS RRB Clerk Prelims 2022 Memory Based Paper

Directions (1-5): In these questions, relationship between different elements is shown in the
statements. The statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate answer:

T TR TR gae fRremara qsifEar sng. Rramisar dae e Red iR snea. @ s am= snfor /ax
AT T TEATHE TAE FEA QAT [AGTATIHT HIOTQ (A T eI FTELT FIATT o ST,

Q1.

Statemenufﬁﬂﬁ:
FRzT=E=W=Q
Cnnclusinns/ﬁ'ﬁ?'ﬂ:

ILE<F

ILQ=T

(a) If only conclusion I follows.

ST h<h Ry [ 9o srgeaty

(b) If only conclusion II follows.

ST eh [\ 1] 9 T8y

(c) If either conclusion I or II follows.
ST <k U Ao [ e 11 o7 sreeam.
(d) If neither conclusion I nor II is true.
ST feR [ &rfor 11 SIeg el 9cd ey,

(e) If both conclusion I and II are true.

ST qlvgl Hoh [ SArfor 1] 96 e,

Q2.
Statements,/faU:

W=Gz=zT=C<V<B

Cnnclusinns/ﬁ'ﬁ?'&:

ILW=C

ILW=T

(a) If only conclusion I follows. BILINGUAL -

ST h<h oY [ 9o sraeaty

(b) If only conclusion II follows. Ma ha rOShtra
S Ry 11 9o SedTe - Exam

(c) If either conclusion I or II follows. .

ST¥ ek Uaha Y AR [ e 11 9o sraeae. Prime Test Pack
(d) If neither conclusion I nor Il is true. MPSC | Maharashtra Police | Others
ST fAed [ rfor 11 Fvgiel 9e TeedTH. >

(e) If both conclusion I and II are true. 50+ Total Tests
ST Rval (AR [ SATToT 11 & e, 12 Months Validity
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Q3.
Statemenufﬁﬂ'ﬁ:
K=12G=F<T<R
Cnnclusinns/ﬁ'@ﬁ:
LKE=R

I.LE=G

(a) If only conclusion I follows.

ST Ry [ 96 e Te

(b) If only conclusion II follows.

ST ek [\ 1] 9 89Ty

(c) If either conclusion I or II follows.

ST <k TR Aoy [ e 11 97 79eaTH.
(d) If neither conclusion I nor II is true.
ST (Ao [ 3TToT 11 R lgl a1 TEedTH.

(e) If both conclusion I and II are true.

ST¥ &lvgl Foaht [ Srfor 11 9 e,

Q4.
Statemensfﬁﬂﬁ:
Q=0zzP=K=<U=2
Conclusions/f-F:

LZ>=K

ILQ>U

(a) If only conclusion I follows.

ST eh [\ [ 96 STaed e

(b) If only conclusion II follows.

ST ek HeRd 1] 97 8Ty

(c) If either conclusion I or II follows.

ST ek Uaha Aoy [ 4T [ 9o sraeaT.
(d) If neither conclusion I nor Il is true.
ST (Ao | TToT 11 Teglgl | TEedTH.

(e) If both conclusion I and II are true.

ST qIvgt Feh [ SArfor 11 | e,

Q5.
Statemems/ﬁﬂﬁ :
K«<G=D<C=R<Y
Conclusions/f-h Y.
I.C=0G
I.LK<D




(a) If only conclusion I follows.

S Ry [ 96 SedTE

(b) If only conclusion II follows.

ST Ry 11 90 e Te

(c) If either conclusion I or II follows.

ST ik Usha Ao [ e 1 9o sreeam.
(d) If neither conclusion I nor II is true.
ST fAeed [ rfor 11 Fvgial e TeedTH.

(e) If both conclusion I and II are true.

ST Tegl (AR [ 3ATfor 11 & STEedTH.

Directions (6-10): Study the following sequence carefully and answer the given questions.

GTIeT FHTAT STFITH FT AT =T o=t S =T
B@9#C1£28Dpn7K5LE%U&F€EMG4!3Z?6X¥P5A06

Q6. Which of the following element is sixth to the left of the eighth element from the right end of the
given arrangement?

e AT vfi=aT ST SHTITYA ST ASHTSAT STEHS GGTAT T GTATTIhT HIUTAT ST ?

(aM

(b) 4

()G

(d)3

(e) None of these\ AT gl ATET

Q7. How many such letters are there in the given series which are immediately preceded by a
symbol and immediately followed by a number?

e gaarrey stsft ol ster¥ sea sar=ar = el f=ieg sufor &= sia | 3q sg?
(a) Two\&I=

(b) Four\=mT

(c) None\ T#%Y ATEY

(d) Three\T=

(e) More than four\ =¥ T&T SIT&dq

Q8. If all the letters are dropped in the given series, which element will be eleventh from the right
end?

e wrferndier 98 A& ST ITSAT SIHATHA HITAT Heh AH AT AHA?

(a) 4

(b) %

()&

(d)5

(e) None of these

RIEEI IR EEACIE]




Q9. Which of the following element is fourth to the right of the ninth element from the left end of
the given arrangement?

T wiefi=ar ST SAFTITYA TIAT TSHTAT STATHS AT TEH 3NL?

(a) 8

(b)K

() E

(d)P

(e) L

Q10. How many such symbols are there in the given series which are immediately preceded by a
vowel and immediately followed by a number?

e rewmaed stsft et g sea sai=ar = sireft T2 sfor s = << ge T 3 og?
(a) None / Tz ATET

(b) One / T=

(c) Two /&9

(d) Three / @9

(e) More than three / 19 92T SITeq

Directions (11-15): Study the given information carefully and answer the given questions.

et feereaT ArfRd =T srvrmer &< sfor fedreaT wsri=h S .

Six persons were born on two different dates either 11 or 22 of three different months viz. September,
October and November. F was born on an odd date in the month which has even days. Two persons were

born between Q and F. More than two persons were born between Q and T. R was born before D and after
B

TET SATHIAT T7H Gea<, AFEISL ST Arsga< AT A7 AT TeAT Aigeaidia 11 fhar 22 qr@«r @, F A7 S+
T 99 foaw Faaedr Aigeardie fAww qreaar ATdT. 9 A6 ar Se9 Q ST F ST AT, Q Sfor T /el
TAYET ST SAHIAT S ATAT. R =T S D GAT ST B 5 ATAT.

Q11. How many persons were born after R?
AT FqT TRl SATHIAT STe R ATAT?

(a) Two\ﬁ?

(b) One\TF

(c) None\ T#gl ATl

(d) Three\di= TEST SERIES

(e) None of these \ITI=HT FHIUTdaT ATl Marathi & English

Q12. Who was born on 11th November? M PSC 2022

11 Frega< TSIt HIOTHAT ST ATAT gIar?

@ Q State Services
(b) F ISgdaar gd ustan
() D (@97 1 37170 A9 2)

(AT
(e) None of these \ITTHT FHIVTdaT ATl

o 11+11 Full Length Tests
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Q13. Which of the following statement is true?
FTA AT IV [dTT @Y 3g?

I. More than four persons were born after T

II. Two persons were born between B and D
III. At least one person was born after F

I. T 5% =TT T&AT STEq SAh AT ST SATAT
I1. B 3fOr D A& 219 sA<hi=T S8 AT
111, F =% fFam ue =a<ht SeameT et
(a) Both IT and III\II &for I1I FI=gT

(b) Only I\ F<F 111

(c) Both I and I1\I 3Tfor Il TVt

(d) Only I\ % I

(e) All I, Il and II1\ &= I, II SAfoT 111

Q14. Who among the following was born in October?

o o J
GTATAT0] RIOTHAT STeH ATFETATTHET ATAT?

(@R

(b)Q

()b

(d) Both R and D\R 3rfor D

(e) Both Q and D\Q s1rfer D

Q15.___ persons were born after D.

___I<hiAT 7R D Jq¥ AT,

(a) One\T=

(b) Four\=mX

(c) Three\di=

(d) Two\=a=

(e) None of these \ZTat Tﬁ”ﬁ@ H‘I’gﬁ

Directions (16-18): Study the following information carefully and answer the questions given
below:

GTATT ATRATAT FISSNTTAH TFITH HL AT @At fadedr eIt AL AT

There are seven members in a family in which two are married couples. S is grandmother of K. B is father-
in-law of A. C is mother of D. ] is brother of K and his mother is D. ] and K are unmarried.

ThT FEaTd J1d TaET ST AT &1 [AdTiad STed slad. S &l K =1 3TSit 3178, B A = AT g d. C & D =T 31< 37Te.
] K =T ATS; 3178 &A1 e&m=it &g D M. | &Mior K stfaartad area.




Q16. How is S related to D?

S, D ¥ fohe T | faa 872

(a) Mother\ 3T

(b) Sister\ sTgTT

(c) Mother-in-law\ €%

(d) Grandmother\ 3Tsit

(e) None of these\aTHhT FTUTagT ATST

Q17. How is C related to K?

C =T K oft A7 Hae 3g?

(a) Mother\ s

(b) Mother-in-law\ €T

(c) Paternal grandmother\ ST (FTETHT 37T%)
(d) Maternal grandmother\ 3TTS{T (3TS=T 311%)
(e) Can’t be determined\ 3¥&dT Iq ATET

Q18. How many female members in the family?
FeaTd (hdl AigAT HaeT Agad?

(a) Two\&=

(b) Four\=mX

(c) Three\di=

(d) Five\dar=

(e) Can’t be determined \ 34T Iq ATE!

Q19. In the number ‘95273524’, how many pairs of the digits have the same digits between them (both
forward and backward direction) as in the number series?

FHIE ‘95273524° W&, STRT=AT (e T STISAT AT d SATSAT HET HEAT HTTThTHTO ATATHET THTA 37 AT (Ia!
&=AT ATTOr AT=4T f39)?

(a) Four\=mX

(b) Two\&TH

(c) One\Uw=®

(d) Three\T=

(e) More than four\ =¥ T&T SITEq

Directions (20-24): Study the following information carefully and answer the questions given
below:

GTATT ATRATAT FTSSNTTAH AFITH HLT A0 @At faetedr wai=t IqL ATC@:

Seven people sit around a circular table and they all are facing the center. One person sits between M and
K. N sits 3rd to the left of K. D is neither an immediate neighbour of M nor N. G sits 21d to the right of D. O
sits 2nd to the left of L.

TATHRTE SAATHATAAT T AT THA TG A0 AT TATH A1 STATHAT hx[he allg. Tk SA<hl M 30T K =7 7er
FEAT 3. N K =47 STefiehe 337 a&ar. D g7 M T N =1 STaa@=1 O ATetl. G D =47 I5d (e 237 F&aT. O L =31
STelihe 237 &l




Q20. Who sits 4th left of D?

D =97 STTehe AT T TET AR?

(aM

(b) K

(0

(dN

(e( None of these\aTHhT FIUTdRT ATST

Q21. What is the position of G with respect to N?
N =aT H2H1d G = TITH 1T A1g?

(a) 3rd to the left\STaTHe drET

(b) 2nd to the right \SsTaTshe ZaT

(c) 3rd to the right \3steTshe qra<T

(d) Immediate left\&= e e

(e) None of these\ITa=ht FHIOTdGT ATEl

Q22. How many persons sit between O and M when counted to the left of M?
M =aT STE e HISTol FEdT O AT M 7ed foreT =<ht sreara?

(a) More than four\ =TT T&AT STET

(b) Three\&+

(c) One\TH

(d) Two\z=

(e) None \FIofi= ATaT

Q23. Which of the following sits 2nd to the right of K?
GTATATeRT IO K =TT ITAThe 23T THAT 312?

(a) G

(b) 0

(c)M

(d) L

(e) None of these\ ATt FITagl ATET

TEST SERIES ;

Q24. Which of the following statement is true? Marathi & English
GTATeATeh! R0 (e T 3rg?

I. N and O are immediate neighbors ﬁm qﬁqg (ZP)

IL. D sits 2nd to the left of O
III. One person sits between L and G ‘lﬂ?ﬁ 2022

I N =1for O Steres=r ST #fred HRPY FHATE TSATS!

IL. D O =37 STIshe 277 T84l
TIL. T 6T L #AT07 G a7 Wedl sTerefelt d1e 10 Full Length Tests
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(a) Both II and III\II &for Il FI=gT
(b) Only I\ %% I

(c) Only III \ %% I1I

(d) Both I .and II\I &for Il =gt

(e) None is true \ FI0TdaT T ATET

Q25. Ifit is possible to make a meaningful word with the second, fourth, fifth, and eighth letters of the word
‘ACHIEVED’, then which of the following will be the third letter from the right end of that meaningful word?
If no meaningful word can be made, give X’ as the answer. If more than one meaningful word can be made,
give ‘Y’ as the answer.

‘ACHIEVED’ 7T STS&T=AT THAT, AT, IT=EAT ST SSSAT AATHT TN 9168 a0 30T STHeITe AT AII
TERTAT ISTSAT ZIHTH [AH Y T GTA ATl VT TEHA? HITATe ! ALLIT 976 a7 Thd THATH, I F2UA X' AT
THTUEAT ST TH 9761 AT A STHITH, I T ‘Y’ =T

(@)X

(b) I

(Y

(d)D

(e)C

Directions (26-30): Study the following questions and answer them by referring to the word
sequence given below:

GTATT THTET AT FHL ATTOr @At AT T8 FHHTSAT YT FTAT IAL AT:
LAB FOX SIP BET WET

Q26. When first and third letter of each word is interchanged, then how many meaningful words will be
formed?

STCA QTeRTo Tlgel ATTOT AL STeTT STRATIRE ol STEAT [eoha T STATUT 9167 TATL B TeT?
(a) Three \&@T=

(b) One \U=

(c) Two \T=

(d) Five \9T=

(¢) None \U#! ATét

Q27. If each Consonant is changed to its previous letter and each vowel is changed to its next letter
according to the English alphabetical series, then how many words contain at least one vowel?

ST SIS AUHTAT HTTOThH Y Tedsh oA cAT=AT AN STETd AT Tedsh T2 AT=AT G el AT qaelel 36,
¥ Foret otsaiey fohgTe Ue T 3HeT?

(a) None \ T#&T ATEN

(b) More than three\T= T&IT SITEq

(c) Two \&=

(d) Three \&=

(e) None of these\aTHhT FITdGT ATR!




Q28. If words are arranged according to the alphabetical series (as in the English dictionary) from left to
right, which word will be third from the right end?

STATHE ISTE 1S TS AVHTAT HITCThHTL AETHT HISUIT hed TH, ISTAT SIRTATHA 07T eTea e STHa?
(a) LAB

(b) SIP

(c) BET

(d) WET

(e) FOX

Q29. If each letter in each word is arranged according to the English alphabetical series from left to right,
then how many meaningful words will be formed?

T QeI Tedeh ST TS AVHTATHTY STA [hEd SoTa e Hieel A< (ehd T sreIquT 9168 TAT g 1eT?
(a) Three \d@T=

(b) One \Uw=+

(c) Four\=mX

(d) Two\z=

(e) None \ THzT ATET

Q30. How many letters between 1st letter of 3rd word from right end and 2nd letter of 2nd word from left
end according to the English dictionary?

SSTEAT RTITHA [E=AT 9TeaTH Tigel SeqT SATTOT STSAT EIahTITHA TH-AT 6aTH THY AT AT SUSIT AUTHTATHTT
Rt srert

(a) Eight\31m%

(b) More than eleven\ 3TsITgT afer

(c) Three\di=

(d) Four\=m¥

(e) None of these\ITa=ht FHI0TdGT ATET

Directions (31-34): Study the following information carefully and answer the questions given
below:

QT AT AT FIBSTIE S STATH HLT AN GTAT [FAeAT STt SR =ATC:

Seven persons A, B, C, D, E, F and G live in a building of 7 floors but not necessarily in the same order. The
ground floor is numbered as 15t floor, just above floor is numbered as 2™ floor and so on till the topmost
floor is numbered as 7t floor.

Less than three persons live above F. One floor gap between E and F who lives above E. G lives just above
B who lives on even numbered floor. The number of floors above D is same as the number of floors below
A. Clives below A.

T AT =47 SHILATT a1d &<hl A, B, C, D, E, F 30T G TgaTd 93 ATH FHIT AT ATel. JoASAT 1 AT
TSTAT FgUIA HHTThd AT SITAl, TATSAT STET aE=AT TACATAT 2 I TSAAT FgUA FHH 1o (oA SITAT SATOT AT 100

AT ALAT ASTATAT 7 AT TSTAT FgUH FHHIE [T STl
AT FHT FAHT F =97 9 Tgard. E 1 F ST E =47 % Tgdl, =97 §ed Ul Aeied T Sa< Are. G B =T 3Rl 9%
(T AT B | HHIThd ASTeATAL WgdT. D T Fefed =1 §&dT A =T Tt 8ol Asfed =97 Geigdni= g,

C BT A =T GTeAT TTgal.




Q31. How many persons live below G?
G =41 @At Tt ==ht Trgara?

(a) None\&Tofi= 1T

(b) Two\&=

(c) Six\ HET

(d) Four\=m¥

(e) None of these\aTHhT FIUTdgT ATST

Q32. Who lives on the 5th floor?
ITHEAT HAATAT 0T TEd ATg?
(@D

(b) A

(O F

(d)G

(e)C

Q33. The number of persons live above B is same as the number of persons live below ___.

B =T 9 TRUITAT SA<hi = H&AT ___ =T GTeT TZUITAT A<hi =37 Hedsdeni = e,
(@) E

(b) A

(OF

(d)C

(e) None of these\ITa=ht FHITdGT ATEl

Q34. Which of the following statement is true?
GTATATRT 0T (T G 3AR?

I. F does not live on even floor

IL. E lives above D
III. G lives on the 3rd floor

I. F 99 A7eqTa< gd AT8] TEST SERIES =

ILE D ax T@?ﬁ' English & Marathi '.; j
1. G e wsreama? Tl

(a) Only I\FF | IBPS 2022
(b) Only II\®< 11 RRB CLERK

(c) Both I and IT\I #Tfor 11 ET=gt PRELIMS (qd u<taim)

(d) Both II and III\II 3foT I Teat
(e) None is true \FTITqET #eF ATE! 10 Full Length Tests
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Q35. If each vowel of the word “QUALITY” is changed to the next letter of the English alphabets and each
consonant is changed to the previous letter of the English alphabet, and then the alphabets thus formed are
arranged in alphabetical order from left to right, which of the following will be fourth from the right end?
ST “QUALITY” =T STe&THAT S T SUSIT AATT=AT Telol AATTT TEAAT AT SATTOT ST AT SUSit AUTHTr=IT
AT ST TIAAT TAT SATTUT LT THRTE TATE IO AUHTAT STA RS IS UHTAT FHIT HISAT AT,
FTA AT IO STEAT ISTSAT SIRTATHA AT STEHA?

(@K

(b) P

(Vv

(d)]

(e) None of these \ITIHT FHI0TaT AT

Directions (36-39): In each of the questions below, some statements are given followed by some
conclusions. You have to take the given statements to be true even if they seem to be at variance
with commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follows from the given statements disregarding commonly known facts.

GTeAT TF T, Fal e et smga Samax 2 fAewd iR smra. grarem Rt Ram oo At
AT S Y qraTeTE: AT aeieft R s 7%, 94 ey ar=t snfor Aaw arnrer: AT asaiwe e we
fecreaT Rramiaehr Frora A arihrgseT SIa<er F3ara o S<aT.

Q36. Statements:

Only a few Grapes are Mango.
No Mango is Banana.

Only a few Banana are Papaya.
Conclusions:

I. Some Mango are Papaya.

II. No Mango is Papaya

[ECIEE

T HEEIEIEIRSE

FHITATE! SATET hodl ATl

Fh FGl hodl T0% g,

Ao

L FTET SATET T AT

1. FIOTATET A& T9E ATl

(a) If only conclusion I follows.

ST heh o [ ST a0 i3 ST,

(b) If only conclusion II follows.

ST ek o [ S8 Hi7d STEedTy,

(c) If either conclusion I or II follows.

ST hh Uaha (Aohy [ 4T 1 SIaeor F:i3d daear.
(d) If neither conclusion I nor II follows.

ST fAed [ aTfor 11 Tvg el STaeo Fid AaeaTy,

(e) If both conclusion I and II follows.

ST Aiegt o 1 3for 11 STEeor F3d ST,




Q37. Statements:

Only a few City are Town.

All Town are Metro.

Conclusions:

I. Some City are Metro.

II. All City being Town is a possibility.

IECICE

o Th Tl (E1 2T e,

TqE T3 Hel ATed

Ao

L 78 o it oA

I1. 9 &t 2184 813 rhaT.

(a) If only conclusion I follows.

ST Tk THoRY | ST E0T ivd SAHeATH,

(b) If only conclusion II follows.

ST Tk ToRY 11 ST a7 i STHeATH.

(c) If either conclusion I or II follows.

ST Tk Uaha < M 1 e 11 ST F3q TaedTe.
(d) If neither conclusion I nor II follows.

ST AR 1 STTOT 11 Eeglgl SIqE<or idd AT,

(e) If both conclusion I and II follows.

ST Rvel (AR [ SATTOT 11 STH0T i TEedTH.

Q38. Statements:

Some Dolphin are Turtle.

All Turtle are Rabbit.

A few Owl are Rabbit.
Conclusions:

I. All Dolphin are Owl.

II. Some Dolphin are not Owl.

foram:

FTET SIOHA HTHT AT,

9 FHTHT 99 2.

FTal TS T A

A

L. 99 S{oRe o< oad.

I FTel S o< qrard.

(a) If only conclusion I follows.

ST heh (ot [ ST a0 3 ST,
(b) If only conclusion II follows.

ST ek o 11 S8 Hi7d STEedTd,
(c) If either conclusion I or II follows.

ST heh Uaha Aoy [ 4T 1 SIaeor F:3d daear.
(d) If neither conclusion I nor II follows.
ST e 1 3A1for 11 Tg et STaTor Fed AHedTH.

(e) If both conclusion I and II follows.

ST Aiegt o 1 3for 11 STEeor F3d ST,




Q39. Statements:

Only a few River are Mountain.

No Mountain is Concrete.

Some Concrete are not Bricks.

Conclusions:

I. Some River are being Concrete is a possibility.
II. All Mountain can be river.

IECICE

Th Tl A&l 99 d e,

FIUTATET TAd Fishi AT .

FE Flhe ¢ faer T,

Ao

L. FTET T FIThet gIoaT=T STFIAT 3TTe.

I 99 Taq T4T ST SThaT.

(a) If only conclusion I follows.

ST Tk THoRY | ST E0T idd STHeATH,

(b) If only conclusion II follows.

ST Tk ToRY 11 ST a7 i STHeATH.

(c) If either conclusion I or II follows.

ST eh e (Ao [ fhaT 11 SIaer #:3d saeaT.
(d) If neither conclusion I nor II follows.

ST (Ao | STTOT 11 Evgigl SIE<ol idd AT,

(e) If both conclusion I and II follows.

ST Rvel (AR [ SATTOT 11 STH<0T i TEedTH.

Q40. Find the odd one out?
ST T THOTE FAF ATT?
(a) CBF

(b) KIM

(c) POS

(d) VUY

(e) SRV

Q41.
If y2 -x2=72 and v — x = 4, then find the value of (x % ¥)?

Myt -x2=T72aWy-x=4,T(x xy) T aEn
(a) 33
(b) 44
(c) 55
(d) 77
(e) 66

ada ‘ ”-::;
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Q42. The ratio of length to breadth of a rectangle is 7 : 3 and the perimeter of the rectangle is 40 cm. Find
the area (in cm?) of rectangle?

SAIAT=AT AT T SATTOT S O 7 : 3 AT SATIOT Arrar=1 T AT 40 Fft g, saam= errhes (3512 754) onrerr?
(a) 96

(b) 64

()21

(d) 378

(e) 84

Q43. A man invested Rs.1460 in each scheme A and B. If scheme A offers simple interest at 10% p.a. for
five years and scheme B offers simple interest at 10% p.a. for eight years, then find difference between
interest (in Rs.) received from both schemes?

AT SA<h I T AT A SATT0T B 7T %, 1460 @, ST TTST A T a9 10% T 979 aUTATST 73 AT
SATTOr ST B 9T a9 10% Z0 318 aUIHTST 93 AT <d. A% alvgl ATSHIHEA [HaTedT AT (&, TeT)
o STTET

(a) 438

(b) 428

(c) 408

(d) 448

(e) 418

Q44. A man purchased two articles at same cost price and he sold one article at 18% loss and second at
30% profit. If total profit earned is Rs.210, then find the cost price (in Rs.) of each article?

TR HTOTETH UaHTH AT &I aq [aehd SaedT STTor AT Uah aeq 18% TreITd AT TaLr 30% T el

TFHIT FHTAAAT TRT %, 210 FTEITH, TAF TEqAT @Al A (T 7eT) ereT
(a) 1500
(b) 2000
(c) 2250
(d) 1750
(e) 1250

Q45. A man purchase three different articles A, B & C and cost prices of these articles is Rs.52, Rs.78 and
Rs.108 respectively. If number of each type of article purchase by man is equal and man spends total of
Rs.1190, then find the number of each type of article purchased by the man?

T AT o4 aTaRTadT TG A, B STT0T C @A FHear A7 AT TqH 1 @al hid S %.52, %.78 ATfor %.108 31T,
ST HTUTHT @Al e odT T TohT=aT aeq Al SeaT THIT STH AT a1 THU % 1190 & FId T8, T HI0HTH
GYaT Ao dT T ThTE=AT aeqAT SEAT .

(a)8

(b) 4

()6

(d) 7

(e)5




Q46. The ratio of present age of A to that of B is 5 : 4 respectively. Four years hence, age of A will be three
years more than age of B six years hence. Find the present age of B?

A =TT B =T HEAT=AT 4T UM STIHH 5 : 4 3, A AUHAL A o 97 TgT ai=aq< B =47 aITHAT T a4 1%
FHA. B o HeATH 9 Q&7

(a) 12 years/ T

(b) 20 years/ a&

(c) 16 years/ I

(d) 24 years/ a&

(e) 28 years/ T

Q47. A vessel contains 120 liters mixture of milk and water in the ratio of 5 : 3. If 20 liters milk added in
the vessel, then find the ratio of water to milk in resulting mixture?

AT FIATd 5 : 3 5T T g SATT07 qroAT= 120 e [ ag. S sieara 20 e g8 e a¢ aroms T

RO ST AT 9ToAT= IO 9T
(@) 7:15

(b)11:19

(c)8:19

(d)9:19

(e)7:19

Q48. A car cover 160 km in five hours at the speed of x km/h and same distance cover by another car in 3
hour 20 minutes at the speed of y km/hr. Find the value of (x: y)?

T F1E x TRHT /T AR 91 arerid 160 TRt sia srad Arfor gt i< y ot /ame J1 o' 3 ar| 20 Ffeia
T FqL HIIA. (X 2 y) o T 9T

(@)1:3

(b)2:3

(c)3:4

(d)1:4

(e)6:7

Q49. A boat takes five hours to cover certain distance in upstream and takes two hours to cover the same
distance in downstream. If the speed of the stream is 3 km/hr, then find the distance?

TATETd ST Q9T ST AL FTTUATHTST FTETAT ITH ATE ARTAT AT THTA FAL TATSI (2T FTITITEHTS ]
FTETAT &I AT AT, ST TATgT=T a7 3 FoheT /AT S8, T HqT eme?

(a) 40 km / fefy

(b) 30 km / T

(c) 10 km / FHT

(d) 20 km / Tt

(e) 60 km / forfY




Q50. A is 40% more efficient than B. If B takes 6 days more than A to complete a work, then in how many

days ‘A’ alone can complete the whole work?

AT B UET 40% HATAF FTIAH 2. ST B AT TETS FIH U7 HL0ITEHTST A TAT 6 Ta® SITeq aARTaTd, a% 'A' Uehe T dF

1 feett faareTa ot % arshar?
(a) 10 days / fa=a&
(b) 15 days / fe==
(c) 21 days / fe==
(d) 24 days / fe==
(e) 12 days / fa=a=

Directions (51-55): What will come in the place of question (?) mark in following number series -

GTetier &t qrfersd o (?) g sl F e 3w -

Q51.2,4,7,12,19,?
(a) 32
(b) 30
(c) 36
(d) 34
(e) 40

Q52. 67, 98,129, 160, ?, 222
(a) 193
(b) 195
(c) 191
(d) 197
(e) 199

Q53. 10, 18, 45,109, ?, 450
(a) 231
(b) 232
(c) 234
(d) 236
(e) 239

Q54.12,16, 25,41,7,102
(a) 66
(b) 64
(c) 62
(d) 68
(e) 72
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Q55. 15, 20, 25, 30,7, 40
(a) 32
(b) 35
(c) 36
(d) 45
(e) 48

Directions (56-60): Table given below shows total three types (Sunflowers, lilies and Roses) of
flowers used by an event management company in three different months. Read the data carefully
and answer the questions.

FTAT AT TFATHEY Toge HASHE F A1 ARTENTeAT AIGRATT aTaeAedT G THYT S T (TFEA,
ot sl o) IrEae SR, ST FBSTgd® araT A0 A= SAL AT,

January/ February/
Flowers/ 3 ﬁ 3 FI March/ o
Sunflowers/ W 68 112 96
Lilies/ forelt 84 64 80
Roses/ I[cild 72 88 118

Q56. Total number of sunflowers used in January & March together are what percentage more than total
number of roses used in January & February together?

ST SO AT HET ATILAIT TR GAEATH T GE&AT STt SATT0T he[ATE I HEd T aqaur aTqeiedT AT =41
TEqUEAT TohdT 23 SITed arg?

(a) 2.5%

(b) 5%

(c) 1.5%

(d) 4%

(e) 3%

Q57. Find the average number of all three types of flowers used by event management company in March?
To5e HASTHE FHAAIH ATHHET ATILAAT T gl TRTE=IT FATHT T FEAT 9ITeT?

(a) 91

(b)oo

(c)97

(d)93

(e) 98

Q58. Find the ratio of total number of roses used in January to total number of lilies used in January?
STHETOHET ATILATIT AT =T THUT HEA=AT A0 AT HEd aTaeedT foref (=47 TR Hed= O Qe
(a)4:3

(b)6:
(c)6:
(d)9:
(e)7:

N N N U




Q59. Total number of roses used in March is how much more than total number sunflowers used in
January?

ATEHET ATILAT TAAT TR [ATHH T G&IT AT aTaeered GaEaaaT fhdt Sea aig?

(a) 90

(b) 80

(c) 50

(d) 40

(e) 60

Q60. Find the total number of sunflowers used in all the given three months?
faereaT it Afg=aTa T fohcdt GEpaAT=T arae el o Qe

(a) 276

(b) 274

(c) 268

(d) 272

(e) 264

Directions (61-65): Line graph shows total quantity (in kg) of five different dry fruits sold by a shop.
Read the data carefully and answer the questions.

T A FHREATT FAHAT AAAT T AT AT STAHSHS THOT AT (e red) Iraaat. ST Fbs 1 gd s ar4T

STfor ST =
a0
a0
70
60
50
40
30
20
10

0
Almond Cashew Walnut Raisin Pistachio

Q61. If the ratio of dry to wet Walnut & Pistachio sold by shop is 3 : 2 and 5 : 3 respectively, then find
difference (in kg.) between total dry Walnut & Pistachio sold by shop?

ST TS faehel SITOTTY geh T 3T Walnut 3T{Or Pistachio I I[OME S 3 @ 2 SAT07 5 : 3 36, T THATT
farshel STTOTTY. WK F1S Walnut STTTOT Pistachio TT=aTe el w3ah (Fhef 3 9lTe.

(@) 6
(b) 5
(c)8
(d)12
(e) 4




Q62. Find the ratio of total Almond to total Raisin sold by the shop?
TR fashel SO THT Almond STTOT Raisin T T[0T ATET?

(a) 3:
(b)2:
(c)1:
(d)2:
(e)1:

N w W 1 U

Q63. If total Apricot sold by shop is 50% more than total Cashew sold by the shop and total dry Apricot
sold by shop is 40% less than total wet Apricot sold by shop, then find total (in kg.) dry Apricot sold by the
shop?

ST T (s STTOTTET WHT Apricot AT fasheledT THT Cashew T&T 50% ST STET SATTOT SHTATT Aol
STTOTTEY T SiZet Apricot FHTHT [AEedT IedT THUT SAAT Apricot TeAT 40% FHT STEHA, T TR [AhedT
et TR (Tohet#er) =T Apricot 2TT&T?

(a) 45

(b) 36

(c) 40

(d) 30

(e) 60

Q64. Total Almonds & Pistachio sold by shop is what percent more than total Cashew sold by the shop?

ARG faehel STTOTTY THIT Almonds 30T Pistachio § SHIATA [#hedT IedT THIT Cashew TeT fohelt g StTear
arg?

(a) 20%

(b) 25%

(c) 24%

(d) 30%

(e) 40%

Q65. Find the difference between total Walnut & Raisin sold by the shop and total Cashew & Pistachio sold
by the shop?

HRTAT faehel STTOTTY TEHOT Walnut 30T Raisin SO SHTATA ashel ST THIT Cashew ATTOT Pistachio IT=ATd 17
T QTTET?

(a) 40 kg / Trer

(b) 5 kg / et

(c) 30 kg / TetT

(d) 20 kg / TetT

(e) 10 kg / ToheT




Directions (66-80): What value should come in place of (?) in the following questions?

GTATA AT () =T AR 0T T ISA?

066 20 = V324 + /256

(a) 20
(b)5

(c)10
(d) 15
(e) 25

Q67. 3 X7 =(5)*+(7)*+(17)°
(a) 12
(b) 13
(c)10
(d) 11
(e) 15

Q68.7 2 =40% of 420 + 44% of 200
(a) 24

(b) 12

(c)8

(d) 16

(e) 416

269 2> of 4> of 37 0f 81 =7
(a) 2900
(b) 2500
(c) 2700
(d) 2300
(e) 2400

Q70 V256 X 49 + (16)* — V343 = (7)2

(a) 21
(b) 18
(c) 14
(d) 22
(e) 19

71 V256 %169 +3600+12=2800-7

(a) 312
(b) 280
(c) 292
(d) 324
(e) 296




37.5x 14+800 —(26)°+136 = 7
Q72.

(a) 785
(b) 800
(c) 810
(d) 825
(e) 765

073, V1225 x 18 —(6)° - V& = (2)?

()7
(b) 6
()5
(d) 4
(e)3

- =7
Q74. (1350 + 1625) + (625 + 565) ="

()15
(b) 2.5
(01
(d) 2.25
(e) 2.75

; V625 + V64 x 6 = 7% of 150
Q75.

(a) 5
(b) 25
(c) 15
(d) 20
(e) 22.5

Q76. 15 x 26 + 310-(15)* = 20% of ?

(a) 2375
(b) 1825
(c) 2525
(d) 2150
(e) 1950

Q77. 32x 4625 + 352 + 150 = (7)°

(a) 50
(b) 45
(c) 35
(d) 30
(e) 40
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@79, VB0% of (2 +60) = 20096 0f 12
(a) 45
(b) 35
(c) 65
(d) 55
(e) 25

80, 250% of 300 - 55x 40 + 2700 =2

(a) 1050
(b) 1250
(c) 1150
(d) 1350
(e) 1450
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